Missing Addend Word Problems - X.IDS

ACADEMY

Read the word problems. Look at the picture and check the
correct solution.

Justin wants to make a big apple pie with 10 apples. He has
6 apples. How many more apples does he need to make
an apple pie?
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2 6+7=10
== 3 & 6

There are some yellow and blue fish in the fish tank. There are 3
blue fish in the tank. There are 8 fish in fotal. How many yellow
fish are there in the fish tank?

6 3 o

Copyright © 2017 Kids Academy Company. All rights reserved Ge-r more worksheeTs 01- www.kidsocodemy.mobi



